PROERKREY)=VIRE—E

2U=v9 25BRE £ 5+ £5+VIO £ 5+EE+VIO
ISFILOIVZ=D 68,000 129,000 68,000 129,000H
YT 0N =9Y 146,000M 224,000H 224,000H —
ATIEBI)V=VY 198,000HM 260,000H 268,000M 315,000H
oansl=yy — 272,800H — 326,700H
MEEEII=vD 6[E:77,400M — — 6[=]:155,700M
TCBRREARERINH 198,000H 298,000H 298,000H 389,000H
AVXIZFII)=VY 206,800H - — —
2LAT7 V=D 198,000M 247,000H 247,000H 296,000H
TIU0)=vy — — 75,900H 218,900M
REBERXUD)Z=9Y 6[=]:259,200M 6[=]: 340,000 6[=]:340,000M 6[=]:398,000M
XEAH B HZR

KEEHDLZWHD(FEEI—R




